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Math 206 - Quiz 5 y
February 22, 2012 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Five quarters, four dimes, and seven nickels are placed into a bag. Two coins

are selected at random (without replacement).

(a) Sketch the complete tree diagram (with probabilities) for the experiment.
ao

s, @ ==~ = - o 9ot
sy .- 80 564
7/ avo 35
Q 5 22
‘5/@ 5 N - - - QL( 30¢'
, o ... 22 __ ___ 5
Vico s aio - \9 2o¢
D 5D - - dyo --- dod
7/1(, , '/‘5 - 28 |5 a
PN U SV
N d 15 O 9:11? - _?_E_. - \5&—
% ””” E)
(b) What is the expected value? ~ N g4 1o ¢
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(c) What are the odds in favor of selecting 45 cents or more?
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2. (2 points) The probability that a Homewood driver is wearing a seatbelt is 75%. In a
sample of 5 drivers, what is the probability that 2 or more are not wearing seatbelts?

Design and use a simulation to answer the question.
/[?AT— 3(280 CHr L AND .Z BLuE CHiR [MTo A BA‘S«. SSL&CT‘/‘I CHIP AT 24NNt 7O
in = Drivee ererng BELT,
SImULATE SeleeTivg A SINgeE Drivoe. Reo et J
#1 - BRRRR - Fawuee

Beug CHIp = Drivee wor a)?ﬂfzmj BEeLT-
#3 - BRBRR - Succey

/4 TriAL 1§ TO SececT 5(‘.&-}!;3.3 U/ TH ﬁ’f/ﬁé.f?Ci‘/v‘i’ﬁeU?':'
#3 - RRRR B - Fawurg

Success /£ Ao MoE Beue CHIPS AZE SECECTES. | BRB - Success
#oF Succerted S q - BR
o = S \_//é‘“(& #5. RRBRR ~ (A 1cure g

Do Seveedc T7214C5. ”
= oF TS 2
PQOB ¥ 5



